MeH10 ropauero nUTaHus
1-4 knaccon

Ne np'uem nuwm, Macca BHEeprus, sw bl M MMHESINLHLIS PEEECTES Cromm0
1K HauMeHoBaHKe nopum cTs
6ruopa ur B WM y Kxan B1 B2 A D pyS.
'
Hegena 1 Beuxs 1
3asTtpak
"Wxpa xaGaukosan
28 KoHWcepsWpomaHHan 60 0,4 4,2 4,4 58,2 ao 3,0 13,13
(npombil.nponasofcTea)
35 Omner rn’ypanhuhlﬁ 150 13,1 13,8 a1 2s8s 2s a9 38,5 0,0 95,4 157,0 6,2 0,6 136,0 0,1 0,0 0,4 0,4 47,90
Monoxo 200 3,3 3,7 47 es a2 330 0,0 119,0 93,0 13,0 0,1 151,0 0,4 2,0 0,5 1,5 16,88
41 DpyKThl cBéXMe ABNoKK 100 0,4 0,4 10,4 es 0,0 0,0 36,0 61,2 12,0 0,2 45,0 0,0 0,0 0,0 10,0 10,00
4 Xneb nweHUYHLIR 35 0,3 0,0 3 0,0 0,0 4,6 17,4 6,6 0,2 8,0 0,0 0,0 0,0 0,0 2,31
3 Xneb pxaHon 20 1,0 0.7 &7 ot 2.9 c,0 0,0 5,8 26,5 6,3 0,8 6,0 0,0 0,0 0,0 0,0 1,52
# .
uTOoro 5865,0 18,5 23 <y es 69,5 3,0 284,0 385,5 54,1 2,4 371,3 0,5 2,0 0,9 # 91,74
#
Obepn
64 Kanycta ksawesas 60 =g 3 ps as a.0 174,5 0,0 2,1 2,3 2,7 0,2 0,0 0,0 0,0 0,0 9,6 12,89
22 CBeXonsHKK 290 13 = 3 2 8 | a1 a0 43,3 0,0 41,9 45,8 10,0 0,3 63,0 0,0 0,0 0,0 3,6 15,52
39 Kotnera =5 43 =1 see as c.0 44,1 0,0 22,8 55,2 9,0 0,7 78,0 0,0 0,0 0,0 9,1 31,23
40 Pary ua ozowmei 2 =T =3 s =T e 2,0 43,6 2,0 141,7 48,4 12,5 0,7 170,0 0,0 0,0 0,0 2 1487
Hanwutox gpyxTosc-
ArogHbIR 200 P pone 3 ae 0,0 0,0 0,0 14,0 14,0 8,0 0,2 25,0 0,0 0,0 0,0 8,0 13.00
NPOM.MPOKN3IEORCTES
a Xneb mueHnuHsIR as ac 21 s ac 0.2 0,0 0,0 4,6 17,4 6,6 0,2 9,0 0,0 0,0 0.0 0,0 237
.
3 Xne6 pxaHon 30 15 L = ms =25 a1 0,0 0,0 0,0 5,8 26,5 6,3 0,8 7,0 0,0 0,0 0,0 0,0 2.238
DpyKTe! CREMHE =
a1 n;nn o2 Tz Tec are =3 a1 0,0 0,0 0,0 36,0 61,2 12,0 0,2 45,0 0,0 0,0 0,0 = 10,00
HTOro = =3 e 2.« 0,2 305,5 2,0 268,9 270,8 67,1 3,3 397,0 0,0 0,0 0,0 # 102,76
b4
BCETO 1 me=na =l == = o=z 1,1 0,7 375,0 5,0 552,8 656,3 121,2 57 768,3 0,5 2,0 0,9 # 184,50




